HENEREREES i
SHI3F10H8H (&)

6:550) (81 @ kg )
pHE i miEH o2 = B Z B " =

S 23% RIS 919.3 350 151
<IN 83.1 100 20
AABHLA 269.6 800 159
JUALA 1,143.6 1,251 51
LEFLA 774.8 503 20
TFELSHLA 299.2 1,119 189
=RHLA 593.2 389 20
THLA 736.9 690 339
RaAHLA 45.3 1,200 100
HSRALA 419.2 62 20
Lo 273.3 40 22
%55 391.8 85 20
<S8 135.0 1,195 542 |G 2"
FAALY 149.6 1,050 94
73 35.1 1,309 609
<5 236.1 849 59
FHA 332.3 361 56
FHAH 60.0 1,500 699 o e
IVAVTAFX 327.0 90 20
TIA VT AF A5 115.0 1,313 477 |am. "
F7>0 3,237.4 389 20
NFHS 495.6 45 20

I 11,072.4




€::3:5) (3T @ kg )
PEE S RiEY B E = 1B 7 fE " =

S 238 T A F 4 34.9 1,360 250
INTESs 37.0 209 33
Z2F 36.1 850 300
FHLY 48.0 4,300 290
EsINY 81.0 | 27,000 4,300 |50
HF A 52.9 500 20
T koS 84.0 339 20
XA 26.1 249 23
AANYT 508.5 900 20
sH= 26.7 3,650 300
THHE 40.5| 10,009 4,300 |oin 2"
TYRSERF 41.6 200 89
254 hRF/ A 38.4 600 500
ZILAA 7 437.9 850 101
ZJLAA FI58 545.0 4,611 1,433 [ 00
TUAh 2,426.6 529 73
7 U % 530.0 2,959 1,211 [
=241 215.0 869 339
TFEHT 2,280.4 588 30
AFF< 246.5 1,653 1,450

e 18,701.5




€::3-2)

pHE i miEH B = (| Z 1B
EERFE 44% |ESA 100.3 2,011 80
=N 31.8 366 20
0%/ UL 241.5 1,520 1,079
JEZHAN 26.1 81 20
HY= 262.4 1,250 100
ARERiE 24% DITFA I 805.0 220 100
SS2 4,354.3 310 50

iR 2% JEZHAN 30.4 100
B 7% Ry FHA 1,382.0 380 161
80 43% JyU 97.7 259 20
e 32% EXTVRS 198.4 181 70

HE> = 7,529.9

(B : kg)




[;Efa] (BT ¢ kg )

pHE i miEH B = = 1B Z 1B " =
HE 238
EEXFE 44% |ESA 731.8 2,500 500
ASHLA 23.8 1,600 900
80 43% ESX 594.4 2,700 800
e 32% <453 1,385.8 2,100 900

D
[ =]

1§ 2,735.8




